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There are TWO (2) questions in this section. Answer ALL questions on the answer
booklet provided. (100 MARKS)
Question 1 (50 Marks)

Supposed the demand and supply schedule for good X in Malaysia is given as below:

Table 1: Demand and Supply schedule of Good X

Price Quantity Quantity
{RM) Demanded Supplied

7.75 - 100

8.35 - 125

8.95 - 150

9.55 - 175

10.15 - 200

10.75 - 225
a) The demand function is given as P = 14.5 — 0.2Q,;. Complete the demand schedule in Table 1
(10 marks)
b) Derive the supply function based on the supply schedule above (Quantity Supplied as
dependent variable). (5 marks)
c) Using algebra, compute the equilibrium price and guantity. (10 marks)
d) The Malaysian government imposes a price floor of RM7.50. (15 marks)

i. Compute the quantity surplus / shortage
i.  Explain the impacts on consumer and producer surpluses, and deadweight ioss

e} Evaluate under what circumstances, it is justifiable for the government to implement a price floor.

Provide at least one example. (10 marks)
Question 2 (50 marks)
Table 2: Production and Cost Schedule of Company A

Marginal Total
Product of Variable Marginal
Total Product Total Labour Labour Cost Total Cost Cost
1 1 1.00 - - -
- 2 1.00 B - -
- 3 2.00 - - -
- 5 0.50 - - -
- 8 0.33 - - -
- 11 -0.33 - - -
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a)

b)

c)

d)

e)

Using the Total Labour and Marginal Product of Labour, compute the Total Product for every
quantity of Total Labour. (10 marks)

Assuming that only capital and labour are used in the production and the Total Capital Cost is
fixed at RM50, while Labour cost is RM6 per unit of labour, compute the Total Variable Cost,
Total Cost and Marginal Cost. (12 marks)
If the price of the product produced by Company A is fixed at RM18, determine the quantity of

output that Company A should produce to maximize profits and also compute the maximum
amount of profit that Company A will earn. (10 marks)

Based on the information provided, determine in which market structure Company A is likely to
operate. Evaluate the pros and cons of this market structure. (10 marks)

Based on the market structure that Company A operates in, Company A is likely to produce
product that is uncreative and undifferentiated.

Do you agree with the above statement? Justify your answer. (8 marks)

** END OF QUESTION PAPER ***
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